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First assignment Last assignment Best assignment

Click a question fo preview it. Expand a question to view student scores.

LIEIETD attempt attempt attempt

o Sec. Ex. 13 - 10.1 Section Exercise 13 89.47% 80.47% 80.47% I
o Sec. Ex. 25 - 10.1 Section Exercise 25 78.95% 78.05% 78.05%
o Sec. Ex. 55 - 10.1 Section Exercise 55 04.74% 04.74% 04.74%
o Sec. Ex. 25 - 10.2 Section Exercise 25 890.47% 89.47% 89.47%
o Sec. Ex. 23 - 10.4 Section Exercise 23 57.80% 57-80% 57-80% 3
o Example 6 - 10.3 Example 6 84.21% 84.21% 84.21%
o Sec. Ex. 2 - 10.3 Section Exercise 2 100.00% 100.00% 100.00%
o Example 6 - 10.4jxample 6 73.68% 73.68% 73-68%
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4 prev | Question £6 (of 6) |V| next p
award:
6 10.00 Problems? Adjust credit for all students.
points

1 out of 3 attempts

Find parametric equations for the surface 7 =11 — 4x? - 4}-‘2. —
Assistance i
A toqp — X o tand - g sin g [ checiiy wor |
w A=y ,.—44:05,:111}—45111

_ B.z=11 —= ,.t=%cosr,and}-'=%sinr
1, 1 1 [ ShowMe |
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s X =5 cos I, an }—2 sin
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Report a Problem
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Find parametric equations for the surface 7 =11 — 4x? - 4y=.
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